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e aww 7anS — If it is six 2°rov wide he is 1wp

Overview

A °"77 1s an area of 7"¥7 which is surrounded by " nmx°nn. The question is
whether the area of 7"v7 1s within the Mmx°nn, i.e. there must be a 7"v7 DpPn
besides the 'me*mn, or will it be considered a "1 even if it is 7"v7 including the
*mynn. The same discussion applies to the height of the myin, do we require
mx°nn that rise ten 2°19Y, in such a manner that if one 1s inside this MW" he can
measure a 77¥°11 of ten 29y, or it is not necessary, and as long as the 7%°1n rises
ten 2’19Y above the ground, even if it is partially ‘filled’ it is still considered a
'L

We know that in order to inscribe a square 7"v7 within a circle it is necessary for
the diameter (width) of the circle [which is also the diagonal of the square], to be
five and two thirds, according to the formula that for every unit measure on a
side of a square the diagonal of that square is two fifths greater; therefore for a
side of four o'oY, the diagonal [and diameter] will be five and three fifths o°mov
{4x2/5=8/5=13/5,+4 =5 3/5}.

TR WPl RPITT PN 13937 was — The 11'' explained that the dimension of six
o°mov is precise’

PRRIT AW 373 WS N7 1177 — because the walls of the hive take up two

fifths of a now, the actual thickness of the wall of the n°m1> is a fifth of a rdv, but when we
measure the hollow (or internal) area of the N7, we need to subtract from the entire diameter
of the n7m3> the thickness of the two walls on both sides, which leaves us with a diameter of
inner space of 5 and 3/5 o°nov.

DTN TIN2 T IR R XY — and it is necessary for there to be airspace
inside the n211> that measures 2°v2177 2°190 '7 ¥ "7, which requires a circle that has a
diameter (width) of five and three fifths o°’rov. In order for the n7M> to be considered a *";7 it
requires to have an airspace of omov 7"v7, without the walls. Therefore the entire nIn>
including the walls must be not less than six 2 m9v.

mooIn asks:
2097 2y RPN 'Y 7123 MR PRT 23 Y X — even though concerning the height of
the n2 there is no airspace that is ten o°mov high® since we include the

! Because we require a W opn for Mwnnwi and less that 7"'v7 is not a 2Wwn opn.

* It seems that even according to this view, only the external part will be considered a *";17, however within the
walls, since there is no area of 7"v7, that will not be considered a *"777. Obviously, all this is where the mwA is
open on top, however if it is covered like a house or an 7Y everyone agrees that the top is a "1 regardless of
what the inside dimensions are.

3 As opposed to "W who states: "1 p7 &2 »ax" > A "7

* For the height of the nm3 is 2’19v " including the thickness of the base.
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thickness of the base of the "2, so why cannot we include the walls of the nm3, in its
width, and why do we require an area of 7"V7 inner airspace?
mooIn responds:

723 PAYY IR 2Y PoauRn — concerning height we do combine the base with
the airspace,

(aw? S2,53 parvey) POVIN ' AR 77 7178 RNWT — because the 19977 is that a hill
which is five 0°119v high and a partition (upon the hill) which is five 2’150 high,

combine for a height of ten 2’noY to consider the area atop the hill a >"717, even though there
is no height of ten a°nov of confined airspace within the partitions, therefore here also by the
N> as far as the height is concerned we do not require airspace of ten o°mdv, but rather a
total combined height of ten 2’rov is sufficient to render the N> a >"77. We seemingly do not
find such a ruling concerning the area of a °"77. Therefore we require 7"¥7 excluding the
mxenn.

mooIn asks:

"7 oAxomaY ' oTIToaT was 'Y 23 Yy OX — even though '@ interprets the
statement: 57 XA 77 TI78, to mean

"7 Py M2 By "7 oasonn qweyw 17 —that he made a partition five o'oY high
on top of a pit which was five 0’150 deep, so according to "1 in the case of 7 717

' %oy, there is 2°n9Y " "R — so how do we know that the thickness of the base of the na12
can be 7v¥n to the airspace of the N> for a height of ten a°nov?

mooIn responds:
FIRTI W7D PR — the interpretation of "1 does not seem correct
TIDWRM WOV 2 (x,u2 77w ,u" 07 " ow) AN RI7 — for we learnt in a mawn, that

a pit and its (surrounding) mound combine® to provide the necessary height (and
width) for a *"77. We see therefore that the pit and its mound that extends above the pit
combine for ten o’y

TDIVER PR D RTOT 29 299D 3937 32 aRY — and if this is so (that there is a clear
7Iwn that 7970xn) how can R7om 29 argue to say that PR '\ axsmmy ' 77

71’9?327:, since according to the interpretation of "9 the meaning of 71 7% 7 T17°2 is the
same as N°2IM M2 (i.e. a partition on top of a pit), so how can X701 27 maintain that '7 T17°)
TDIVXA TR T XN —

N7 PPn%InnT 3190 — since there is a 7w that states clearly that 1970¥» INPM 32,
therefore we most conclude that the interpretation of *"w in '77 7%° 1M1 ' 7T17°3 is incorrect,

mooIn brings another proof to reject s""w interpretation:
RO 3992 (2,52 pavry) N33 9221 — and in Ma3 92 P10 we say clearly —

> In the 1277V X3 there is a NpY2ma between X701 27 and 2°77, in this 7. The X3 concludes like T that
1POI0XA T AT T

% The statement 77wy 15I0ER WN»IM M1 is actually the statement of 737 °27 and his interpretation of the 73w in
1217y which actually states ">y ,"> 7123 10231 1"772 M2, The 7wn in n2w states w">°y ,"N91 N27 D21,

7 See footnote # 5
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'S 91D FIRYT PIRIT INAN2 XTOM 29 77T — that X7on 29 agrees (the case there
being, when there were two adjacent courtyards in which the level of one was
higher than the other, and between the courtyards there was a wall less than ten
o19Y high from the ground of the upper courtyard, but from the ground of the
lower courtyard to the top of the wall it was ten 2°9v high), concerning the
lower courtyard that it is a (separate®) (71°7) N, since the lower courtyard
‘sees’ the face of a wall that is ten 2°19v. This again contradicts s""w1 interpretation of
THI0XN PR T AT T 71773 according to X70m 27, since the lower courtyard is equivalent to the
773 and the wall is equivalent to 77%X°17 and X701 27 1s 77 that 1970%)

77723 BN DY 7 R TR 1 7 R ' TITIAT DB R KXOK — therefore
we must interpret '7 735 '77 717°3 to mean that he placed a partition of
five o150 upon a hill® of five 0°novY, and the 71597 is (not like X70m 27, but) that they are
A7vXN to form a °"77 even though there is no " 7"X, therefore we can say here by the n7m12 that
the base can combine with the airspace to make a "7 even though there is no " 7”\X.

In Summation: The 11"9 maintains that for the horizontal area of the >0 we require airspace
of o°mov "7 5¥ "7 (and therefore the N> must be at least 7ww 12an7), however, concerning the
vertical height of a °"17, there " 7" is not requiredlo, and we can have a "1 even if there is
less than " 7K as long as we can be 77%¥n the thickness of the nam>.

mooin asks:

BRI 13937 ws N7 PN — the interpretation of the n'= (namely that a
horizontal airspace of 7"¥7 is required for a *"1717) does not seem to be correct
212577 N9 927w K7 — for the thickness of the pit’s mound

7Y298Y 127 YonY "1 nwen — also combines with the hole of the pit to provide

the necessary width of four o'mov by four omov to make the (top of the) mound
surrounding the pit a '""77. Even though the mound is not 7"¥7, nevertheless we combine the
width of the mound with the width of the pit to acquire an area of 7"v7. How can we consider
the hole of the pit as a 2™on Opn, since it is hollow and has no use at this point, Md01N
explains by saying:

WRNWTRY SR Y mnb T 2w — since it is possible to place an object
over the hole (and the mound) and then it can be usable

¥ The xn>a there is actually discussing the 2°3°7 of M7°¥n *217°, that the lower courtyard is separate and distinct
from the upper courtyard, and they cannot combine their N1°¥r7 *217°y.

° Now X701 21 does not contradict the 73wn of 1>m 713, which discusses a partition above a pit, while X701 27 is
discussing a partition above a hill.

' 1t should be noted that the base can combine with the walls to make the inside of the N> a *"717, only if the
base is on the bottom (and there is 7"'y7 without the n1¥°7. See footnote # 2). If the base were on top and the
walls are extending downwards then it would be a >"i77 only on top of the nm>3, but not inside the walls of the
N2, as we learnt on 121 1010 PRW N°2 2,7 7.

t See y>°0n 1"7 X,0¥ NAWw '010, that this is how '01n interprets the 7awn of 217 123 oy 1nam an 501377 191 27 NI,
that we combine the airspace of the pit with the thickness of the surrounding mound to achieve a width of 7"y7
o mon.
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(x,mv 77 parey) N9 P52 MRTS — as this (concept of placing an object over a non-
usable space to convert it to a usable space) was spoken of in 1791 P25
mMTnY3 1910 18R 928 — concerning a case where he filled the entire top of a 71y

7207 " M23 with pegs, rendering it unfit for use, nevertheless it retains its status as a
*"717, since he can place a board over the pegs and make use of the area. The same rule will
apply to the well and its mound. The question on 117 is that here too, we can place a board
over the opening of the n7m> and we will have a usable space of 7"¥7, so it should be
considered a >"77 even if there is no airspace of 7"v7 for there is usable space of 7"v7 if we
combine the walls of the n112, as in the case of 1M 12.

mooIn concludes:
TRW RO WPIT N7 M TR KUK — however we must say that the fact that he
mentions here that it was six 2°r79% wide and not five and three fifths 2°’rdv is because -

“"'wavs7> 7 K2 — he was not being exact, as >''w1 interprets it. We do not
require an inner space of 7"¥7 to render the N1, as a whole, into a >"717, since we can place a
board atop the walls of the N2, we will have usable space of 7"v7.

Summary
The view of the 11"9 is that in order to render the N2 a "7, there must be an

inner area of 7"¥7. Concerning the height there is no need for " 9"X, since we
maintain 1"97v¥» 77 A% 7 717°3, meaning that a partition atop a hill can
combine with the hill to create a ™ 7x°nn.

mooIn refutes s™"wA interpretation that "7 7% 1 ' 717°2 refers to a partition atop
a pit, because there everyone agrees that 1"570xn.

mooIn disagrees with the 11'"9, and maintains that even concerning the width of a
°"77, we can combine the walls of the nIM> with its airspace to accord the nmM>
as a whole, the status of a >"77. We are not concerned that there is no 21wn Dpn
mwnnwi, because we may place a board over the entire N7 (walls and inner
area) which will give us a mwnanw? 7"v7 W0 DpA.

Thinking it over

1. What would be the logic according to the 1" that the horizontal area must be
7"v7 excluding the walls, while the vertical area may be 2’190 " including the
‘base’?

2. Can we say that the 1" agrees with '01n that the n7M> as a whole may be
considered a °"717 even if there 1s no inner area of 7"V7, nevertheless in such a
case »ax would not say 1105?"?

12 See nnx now



